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COWTSHET 2 5, RN, WM OIS 54 a S, X o< m (M<> )
SIS EARDIFAEN & o CUHTITZAL T B 2 DT U, Pi TR D) & 5 2%
?‘%5 ERAIEOTHIITCH S, Tk I DM OB & UTERE TV, #
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[l

[ —NARLEHEDIHE

HWHFEEZDES
W E S UC, 1 ROMLSSHHEEE 25, COREY —b/2~b/2 O x X[
T~ Y =—0@ cosine ¥ EET S &

b2
4 bz R (x+) At by
f(x) = _bbg9<x a 2) = @y + E(lﬂ COS pXx b < o* (x 2)
Wy
] 4 e
- gs-b/uwo( b>2dx W %
== " T bl B 2 K y _T
h
“ “4Sb/2i110‘0< __é)z s ot dip — 4w, o >
"l B o) CORIEEE = e )
dw b\ w 4w "
23 e i C S0 s 2e
Lizh o T B <x:tz> =" +E(nz)2cosaux. B
£ T, TORARHREY 2 DORE, w3 O—ERrARR E (h=h)
& Z 4”—”&4 cos ¥ DLESAFREDOFE % 2T, WiE —
T Z TU;(OJJ'L‘)J!/LX”’ F, #B&Eoxnse F, 458, w1
F o W ¥
e 27

F :2 (An cosh a,y + Byysinh a,,y) cos anx

* {%UC L{ 4/('3:, 5(’;/(
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- E (Cy cosh aux + Dyx sinh ayx) cos ey

|a2x21b22
-r2 rzy.

X 2917 21w
LRIEMTED.  REL, ap= = T

b h
B X BIENRIEBIC oy =
RED.

g‘; 0:=0, ty=0 L7520, —EDO—ES 0y & LT

VAT Py iZ LB EIEDNE, bk a, Romins:

Ox = %f; = D> au{ Auay cosh any + Bu(2 cosh any + ayy sinh @y) } cos anx
— > 10 (Cy cosh ayx + Dy sinh @) cos ay + by, (@)
o= a;f? = — 2} (Ancoshany + Byy sinh any) cos ax
+ Ea’;z{cn @y cosh anx + Dy, (2 cosh @i + ayx sinh aux) } cos ary
+ @s. ©)
Tay = — chgj; = > { Auaysinh any + By (sinh a9 + e,y cosh ny) } sin aux

+ Za”{cﬂ a sinh @y + Dy, (sinh @ + % cosh a, x) 3 sin ayy. (c)
WEIBg R, REnE An, Bn, Cuy Du, a, by VK DFDEHIT X T oy Do’y qu,
gy EFRCPRETH I ERBTES,
BOEHt
@) y=H21E T, gy = 3 Pncosan;
Tehbb,

ho.
an COS (X = — Eai(An cosh #w + By 3 sinh mr)cos anx

+ ZQ,Z{C,; ay cosh ayx + Dy (2 cosh @ux -+ a,x sinh apx) J(—1)#

+ a,
2T, coshayx, xsinhayx % —b/2~b/2 D x KHECTT — ) = —D cosine $¥ic
JEPHT 5 &,
1 . 2n .
cosh a,x = - sinh nz + %_‘1_,{ (—1)m ;(—m%?) sinh m} COS X,
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1 2
% sinh a;x = -—— cosh nr — —— sinh nx
Ay ba ,21

7h
+ 2] {W{ (—1)y7 cosh nr —1}%

b(m? — n?)
7 (m? + n?)*?

Zivs 2R LRI 5 &,

{(—1)7sinh 727:} COS amX.

2 >
}]Pn COs Qpk = — Ea,, (A,L cosh nw + B, 2 smlﬂlrc) COS X

+ Z[C,, o, ( - sinh . + Z = sinh 717 cos amx)

m T (m2 ‘f:g )

] 2n
+ ZD,Lan( - sinh 72z + 2;( 1ym ey sinh 7z cos am x>

1 2

2 .

-+ Dy, [,___ cosh iz — — sinh #x
Qy ba,

+ Z}{H_n—hq—f{ (—1)7 coshnn—1}

T\ (m? - n?)

b(sz - ) oo ”n
mg 2 (— 1) sinh ﬂﬂ‘}cos Qo XJj, (—1)"+a,

ot 2 OIS T AT B0, KO 2 OGRS SBEL LS
(—1)n" < {CU apsinh #rw -+ D, (sinh 5w -+ % cosh nn)} & = 0. (1)
&0
Py = — o (A cosh nw + B ? sinh nrr)
n = - i n 2

27}’L 1) m-t+n
am( ) . sinh mn (Cmam -+ 2Dm)

n <m2 + n )
mh
+ ZDW { P ﬂ2>{( 1)ym+n cosh ma — (~1) 7}
b(n? — m?)

"W(ﬂl) m+n ginh mn}, @)

(ii) = 2R \NT, Tay =3 Dy sinayx;
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ERAYPY)
Z} prsin g, x = Za,,{A,l ay sinh 7z + By, (sinh 5w + sz cosh nar) Jsin oy, &
£33 x DEMINC B TR T B A IlE, KOBBRR ST ERD
Dr = & Av oy sivhna + By (sinh nw + 5 cosh nzr) 3. (3)

(i) x = =b/2 IZIWT, Tay =03
Tinbhb

0= Zan{Cﬂ a, sinh 5z + D, (sinh nr + #w cosh nw) } sin ayy,

B2 y DEIIC B PN T B 2ok, ROBEEBERSLETH D,
C ay sinh nx + Dy, (sinh sz + nwcoshuz) = 0. (4)
(iv) x==2b/2 23T, 0 =0;
Fivht

0= Z}a,,{An @y cosh @,y + B (2 cosh ayy + ayysinh a,y) 3 (—1)7

b
— Eai (Cn cosh sz -+ Dy, ésinh nz) cos ayy + by,

Z T, coshayy, ysinhany % —h/2~h/2D y KT 7~ Y = — @ cosine # ¥z
BT 5 &
2n(—1)m

1
cosh apy = — smh nr + sinh % cos any
%Lwﬁ+ﬁ) ’

1 2 nh
ysinh apy = — cosh nrx — — sinh nw + Z{ ——————{(—1) " cosh x — 1}

- 2 2
boc,l 7 (m? -+ n?)

h(m — 1%
rrz( 24 0P

(—1)7 sinh nn'} COS Uy X
She, 2RE ERICRAT B &

211 m
0=>] {An an< -sinh niw + Z izl sinh #n7 cos a/my)

" T o w (mt 4+ n?)
1 . 971(*1 m

+ 2B, a',l<' - sinh na -+ h)w sinh 77 cos cvmy>
nw o w (P -+ 1P

+ B, o [a cosh nw — b—~ sinh #7 4+ Z{ n {(—1)™ coshna —13

o, m 7%2 -+ n* )



No- 10 BT 5 PR OEE (8 1) o
(—1)sinh mr} cos amx]] (—1)n

2 b .
- Z “n <C” coshnz + Dy 2 sinh n:r) cosany + by .

LKAy DTSRI T B 701, KD 2 DOFRR LI L b

2
(—1)~ b {An a, sinh 1w + B, (sinh sz -+ 5w cosh nrr)} + BP= 0. (5)

PG N

O {—1)mtn b .
(=1 sinh iz o (@nAm + 2Bn) — a2 (C” cosh nw 4+ D,,E» sinh nrr)

m Tf(WLZ -+ 0)

—_— )n-} n e { e b7
+%_,‘Bm am{ ) {( cosh ma — (—1) 7}
b (n* — m?)

WW(— 1) m+2 ginh mrr} = (. (6)

wER (BM) LOEHEYE
(V) Evg=zisz) — EVx=0, ymznsz) — Edp = 0.
L, i mECS M OA R ORI TH D, T K D IROBIRIICEBL Co
B op R AT B, 72720 dp, 0P WEROERGE, u, v XROZENEI R OES

1
0t a4
(2 B
Oxt/(y==xh/2) dxt
L7ehias T
. 14+vh 1—v .
Zai {A;,H— ysinh nr -+ Bn<w%):~ cosh nr — p ¥ sinh nrc)} COS X
i

{t}_,—‘ €&y Pr— Dn) cOs X + Z——»T cos anx} =0

X o, R x OEAT I BTG T S 70, ROBRR s LB L B,
Tt

— 1+vh 1
o {A,ZH—u sinh nx + Bn<w-§—i~~ cosh nzr — ~ sinh nn)}

Ay

1{ Oty — can pi) } = 0. (7)

717r

(vi) gl ooz ORI, Eugy=anz — EdF =0 TH BN LR & FER
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9% d*p i et
<é}é>(3 s E%’; =0 LR EHE 2D,

Tihbb

2 o {An 14y ay cosh 7 + By (2 cosh n -+ 1-+v sz sinh 7rx) } sin o,x
+ >k [Cn 14w e, sinh apx + Dy {1+ (2 sinh aux + apx cosh a.x)

— 1—vsinh a”x}] Y e Z prsin ax = 0.

LG,
B 5&
2m{—1)7 .
sinh a, X = {———-———~M sinh nrz} sin ¢, X
” Z m® -+ n?) ’
mb{— on . .
x cosh ap x = Z}{ -~ ( s sinh#z — cosh nr:)} SIn WmX .
m (m? + % 7 (m? + #?)

zhb, 2:% LRICATS

E a,zl {An 1+ v ay cosh nr + By (2 cosh nw + 1+ v nr sinh nn)} sin apX

772

+ 37 (—1) {Er%é--r sinh 77 (Cp 10 aw -+ Dy 1530)

4+ Dyl )]

2mp (—1)™m < 2n
el e

g sinh #w — cosh nrr)} sin amx
7 (m 7

+% Ep,’,sin anx = 0.
LR x OEATIC BRI T B 72100, IKOBHRR BB L5

{An 1+vay cosh ser 4 By, (2 cosh sz + 1+ s sinh nr)}
2n (—1)» | R —
+ ; a?n (—1) m{_ ;(11’1,2»:; -7’1,25 sinh mz (Cin14v am + Dm14-3v)

2mn < 2m
m? + n®\z (m® + n?)

+ Dm 1+v (—1)~

t
=0,
+ Ap”

No. 10

sinh apx, xcoshanx % — b/2~b/2 O x KT 7 — Y = — D sine HFT R

sinh miw — cosh WMr)}

©)



No. 10 G R T 5P OME (6 130 97
FIROEMDEFHE (4 LT v)
Eu:SO'ﬂc dx—DSUydx -+ Cu, EZ):S(Iy dy_VSdey*‘l[‘Cu

R (@), ) RERALCESETV, #ioEH Co, Co T ot 2 =0T,
# =0 JU0 y=0 7, v=0JXbhkxr Co=C,=0%7i%
Thbb

Ey = Z{An 1+ v aycosh any + By (2 cosh ayy -+ 145 a, vsinh a,y) } sin apx

—_ Ean {Cn 1+ v sinh a,x + D,l( 1-+v x cosh a,x — sinh C\'nx>}cos oy

Qy
+ (bZ -—Vﬂg)x,

Eyv= — Ean{An 19 vsinh any 4+ By (1+ v ¥ cosh a,y — sinh a,;y)} COS QX

[£¢73
-+ Z{C,; 1% v aneosh anx + Dy (2 cosh anx + 1+ axsinh 0 x) } sin a,y

-+ ((lg -V bg)y

w0V —
Lish. T LT E(;y+-a~r)=21+wxy Bt L EWER S EC BT
BOEMDFHE (Op TP
(n )2 COS anx
WD x, ¥ HIMOER 6p,0p BIRDBHIDIT x
Yy HRNCASTE P RO P 2#x, ROSTE= 2
- e e O 2N
an¥— U 55 L, #2590y OEH vl P
2e - - ] ‘xi
ov ou AR T

o ~ !
0 = o ’ 0 = v-—T
P Pip,~0 P 0P a0 (___/ (
t 3P, sina,x t X p, cosanx

Lok n. (32 KB
Tidb

w2 M

"

v ::9573@5: EEDINTERLO S
+ _1([ Pi(x' — x) et}:}g Dyosin ay o dc+t2§ P (E—%) cosanl - dl.

~ (¢~ mycosan Cede | d

(nz)®
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o= —S [ tzpn {(/OS Wy X ~— ( 1)71 }Jq dx
-+ _1‘S‘ [— Pi(x' —x) + etz%lj{cosanx — (=11

4 1
- z‘z — {cos anx — (—=1)7}+ 2] 7;:0 = {cosa, x — (—1)”}}26&

a?l

Lf:?ﬁi o) T

_ow
"~ 0Pip=0
IES [ tzh—{cosomx—— ”}—«t}]—n{cosanx—— (—1)y=}
4%0 7 e
+ 37 s {cos an % — (— 1) }] (x — x')dx

:»I%[ez‘z %{—% (cos anz — 1) + <—1)n§}

- L‘E b { (cos apx — 1) + (— 1)”%}

+ 30 4wy L{i (cosanx — 1) + (_1);;£2}T

(na)? al2lal 5 ()
K oT
: _} ji;—l“ b “‘1-* — n':)iz
EaijKetZa” 123 ﬂ)(crncosanx a5+( 1) 2}
SN ! an
’ Z(nﬁ)é.;;f{;f(cosa"x~ 1)+ (=1 5}}
[Alkkic
., 99U
P
£ T oPir—0)
1 ”
AES [“ZZ} %{cosa,m— — n}}
1 E3 x’
E[_tzfn <;¥;Sln0(nx— (u-l)nx)l)

Zf[mtgp” (* sin oy X — (*l)”ﬂC)]

Q. Ny

¥ & x CHEBA D DT R,
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D 1
LEip = Z ( Yt x — —sinay, x)

Ay

Pk, 8{HDFGMRETFO—ITT % LIRDINL 2%

2
(=175 {Cy awsinh nm + Dy (sinh e + 7w cosh ) } + a,00 = 0. (1)

h 2m M-k
Pn=— CY,ZZ (AnCOSh nw -+ By 5 sinh nrr) - Z ( )

1+ ) - sinh iz (Conom -+ 2D5m)

mh
+ ;; Dy a?;z {%@5‘:{:—7}53 {(—1)mtn coshmm — (—1)7}
b(nt — m?) -
= (m? + n?)° (—1)m+# sinh mn}. @
Pn= an{ Ay ay sinh nw + By (sinh 5w 4 nz cosh nz) 3. @)
Cﬂ ay sinh nzx Dn (sinh -+ 1w cosh 1’lﬂ') =0. (4)
(=1~ IZ;{A" oy sinh e + Ba (sinh s + #iw cosh nz) § + by = 0. (5)

om ( >m+n b
”—’—““( 2 2) am sinh mz (a'm Am + ')B,;z) — <C,; cosh nz -+ Dn -sinh ?Zu)
m T\ms

02 ,,,,,,,n:l,,},"_,.v —1Ym+n x—(—1)m
"I‘%}Bm (4677 {TE(le +7l2) {( 1) COShMT ( 1) }

R —m?) R
+ - 22t F ) , (—1)7+# sinh 71’1;1L}—-O. )

1-+vh 1—
o {Anl +v sinh 5w + Bn( ------ 5 o cosh nw — —;1 sinh nn:)}
1
1 4w ,
a,zl {An 1+vaycosh nr + By (2 cosh 12w + 1+ v nz sinh 727?.')}

2
+ 2, (— - ’(’m( . 5y sinhmz (G T con + Do 155)
2mn (—1)7

+ Dml‘i‘u L

2m . t .,
(77(7%2 g sinh mr — cosh mn)} +Xpn =0. (8
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Bll, S{HOMEBNIIRMEC S (A, By, Cu, D, a™, 0,00, pu, D) &L
W AR LR, COMELUT, B Fr BEED, ISNEMB LB TES.
T, k8o ERRIELD, MERDB), TREOML, @™, b, Cy,
Pu B P BIEFRT B E, A, By, Dy ©3HOHFER (11), (12), (13) 255k 5.
TS EMILLTH LI LY, TRiEORIEONS.

Tibb
D)Z
4)Xxn Cy = — — (1 + sz coth nx), (9)
an
(4) %2 (L)1t AT @ = 0. 9"

@B XD pn EHETHE,

o’ <l+ v aycosh #m + — sinh mr) Ay

A
4 {(2 . nm‘> osh sz + (ﬂw_n + t) inh # }B
- o, - —— ) cosh nx -y 0T QO — } sinh #7
n n A 73 xA I n
2n{—1» S I
4 ;afn(_l)m — 7_;-{;7'25—_};2) sinh mz (Cp 1+v am + Dy, 14 3v)

-+ Dm 1+4+v

2mn (— 1) ( 2m

W \x (£ ) sinh mz — cosh mw)} =0. (10

LA XY Cp ZHETEE,

; t
o (1+ v ay cosh s + i sinh 117:) Ay

nrt
+ an {<2a)z + —

_— t
i )cosh nr + (1 +vura, + ~> sinh 727:} B

A

21 (—1)» e ——
+ Ea'f” (— 1)m[_:_-(%§—;—>n—2-)~sinhmrr{l 4+ 3y — 1 + v (1 + ma coth mn)}

fffff 2mn (—1)" 2
+v (
7 (

R ot ) sinh mr — cosh mn)] Dy =0, (11)

(2) H (3>’ (7)y (9) J: D » pﬂ: pﬂ/: Cﬂ i’m:)_i';‘%') &—)

[E— ¢ t
ai {an<1+v ai +—€[~> sinh nx +~I~cosh nﬂ}An
_ t/h ‘ 1+vh et
+ afl[v {1 ~va— 7 < 3 + e)} sinh sz —l—<—2—~ o +7 nir) cosh nrz} B
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¢ om 1) mtn
— ——[ _._(__)_____ sinh mz asm (1 — sz coth mn)

I m (WLZ -+ 7 )
+ Z mh — 1yn+u cost — (—1)"}
4 o, mZ T 712 {(—-1 cosh mn )
b(n® — m?) i 1 4w,
—_— (1Yt T Dm e = (),
g gy (L sinhn }] =0

6), 9 &b Cu ZHETEL,

om ( 1) ni-t-an m
2 I A Y/ { — — 1) mta 1 —(—1)ym
;mn oy -sinh mz+ Am +; o — ) {(=1) coshma — (—1)m}
m? + 3nt nr
mz) 2( 1) mtan Slnh mu} Bm + an (COSh nr + &%) Dn = (), (13)

Biaet Aol
51 OE Ik RO RS :

b= h =40mm, { = 4mm, 2¢ = 6mm, g = 10mm, v =0.3

BOWHH : A=2 X g==60mm? i &F:w,= — 100kg/mm.

gX(Zi)E WQXb

ROWEE — 2 v b 1= = 180mm?, AT : W=—"7—= —1333.3kg

DLEo¥EZ (11), (12), (138) AL T, #EkE =1, 2, 3, 4, 5) 51H%
TERDTC, A, B, D S5 1670 LIRS 23 el EomL s :
T OFEBRE L ERIR, Au, Bu, Du 13 2%EOW< kTS,

mz?;} ’{‘& (An’ B": D") ODﬁﬁ

A;=+9.150 646 0x 10 By=-3.2416000 Dy=+41.027184 1

Ag=+7.443 186 4x 1072 By=—2.7142232x 1073 Dy=—9.6114482x 1072
Ay=+41.121594 2x 10® By= 5,048 900 6 x 107° Dy=+2.3586835x107*
A,=+8.680440 4x 1077 By=—2.717 288 1 x 1078 Dy=—3.342 817 8x 10~°
As=-+7.102 6424 %1078 B;=-—3.118 509 6 x 107° D;=4-1.082 040 4 x 1077

EoT, thooiRE, 9) KALT, Cu, Q) B 3) IKfUALT, P BT by
pkdbvs, X, () EDEBIC =0, B) kb b= Db rLTkod o &
7)3{1,'15{%‘79. ?5\’6: Ciz, Pu, p;l; b?.(") ODﬁE /'“‘3;&k./f\§.



g 156 5 i 37 — oy Bl I HAEL (Aypeeees Az By B;, Dy---Dy)
A, A A, A, A, B, B, B, B,
0.077 4 2.238 1
12.554 1 © 300.5389
o34.6048 | | 21 638. 5100 0
50 007. 127 6 1119 353.830 0
2 226 047. 300 o
0.0108 ‘ 0.229 4
2.2058 44,0529
260. 977 2 5097. 365 9
21881.086 9 425753.340 0
) 1441614083 1
0.0007 —6.7202 262.7740,  —8478.6424  250558.0108 3.1328 —165.0742 5925.4771  —186 455.685 6
—0.0363 42057 —202.1339 7206.8461 —224638.2218  —1.2660 110.5754  —4734.9312 160 193. 988 6
0.0181  —2.5881 145.9856)  —5765.4768  191603.1890,  0.7190 —71.6017 3539.7645  —131093.1323
—0.0107 1.6823  —105.1096 4504.2788 —158800.4484  —0.3915  47.4431  —2610.4057 104 422. 521 2
0.0070 —1.1602 77.2865 ~ —3515.5346 130 290.167 2 0.2820, —33.3512 1951.1737 —82729.554 5

201

.,

[a=]

Y

0T "ON



B D, D, D, D, D,
0.063 5 —4.9796 152.407 2 —3915.176 0 ” 95 209. 436 5
0.005 8 2.9442 —161.705 5 5333.1833  —147481.9164
—0.0185  —0.7764 102.1899  —4600.9289) 150 796.976 3
0.0191 —0.269 2 —47.088 6 3153.075 8 —125245.529 5
48787 851.700 0 ~0.017 4 0.7001 11.363 3 —1822.1538 91196.3080
—0.016 3 0.2016 —2.4970 35.3055 —545.3600
0. 006 8 —0.290 5 5.851 4 —101.933 6 1753.3454
—0.0053 0.257 8 ~6.8947 146.834 4 —2870.1146
0.002 4 —0.187 6, 6.337 0, —159.202 2 3508.791 2
28084 988.636 5 —0.0022 0.143 4 ~5.3653 151.640 6 - —3686.4732
5354 717.201 8 1.8635
— 4857 688. 077 2 84.1225
4205179.0146 2919.7121
—3538004.9319 90 085. 579 6

2937 585. 317 4

2605 803. 4400

.0250
L0141

.0090

(€3]
(2
€))
€Y
5
(6
<
®
®
(103
an
(12
(13
(14
(15

0T 'ON

CHTH) FEoMA % &2 Wy

g0t
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7??33‘22 Cu, P p”" b DAl

C,=—27.159 8 p1=—6.9283 | p/=+1.6513 b= +0,5256
BB == —0, 048 4

@ = +6.822x 107
B, W= —1. 267 X 1073
Cy=+72.177x10~5 | p,=—0.3175  =-+0.0159 By®=+1,128x 102

Co=+22.282X10~* | py=—1.0577 | pof =+0.3041
Cy=—52.179x10™* | py=-+0.3110 o = +0. 008 4

C;=—23.018x10° | p,=—0.3764 | py =+0.0096 by= S by(=+0.477 8

n

PALET, T XCORPKE/OTC, IS, (@, ), () RXD, ox gy,
oy HRIE LTI & #H3E, #4K, H5Xom{RENS.

20 15 10 5 0 5 10 15 20
% y * ¥ mm
mm|
-1
-2l
& -3¢
-4

S

%,

E 3 oy kR
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203

x=0
1=5
x=10
x=15
x=20

} ; t j P} bt ——)

4 -3 -2 -1 0 1 2 3

= Oy kg/mm?
o4 B ox il
3l

&

&

&

5 M o i
BOEE
(i) hdy (N) ke
b2 '
N =~ XZS prsin ey, L-dl = tz%—{(~1) " — cos anx}.
X n
N —84.3
FKAHGT] on = AT e T 1. 405 kg/mm? (A = 60mm?)

(i) fghire— A v M)kg-mm

b b/2
M=¢e tZS /an' sin a,C-d { + KZS D (E—2) cos anl+dC
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AR K

b/
— E 4w0 S‘Z (—x) cos anl-dC

72"

1 .
=21 (et pn - =~
(27

R F IS
(i) 397y (F) ke

o ESW Aw

oM =

tﬁ;z L 4w0

—i>{cos anx — (—1)"1.

o (nzw)? ay

"+838—+13961/ 2
= E 5y = £ 13.96 keg/mm

NI

5 COS anlodl — Zzg P cos aC-db

4 i b/2 inea,C N0/2
_ 3 [,S}B%E_] | S},l??f!é]

(1)

[297)

X 2473 X

:_Z< 4w,
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I BZEEMED25E

I &R — OMIEL 2T 555, BILET RIGDxrlsék AR 7 —) =~ D
cosine SRECICFREET 5 &.

b\2
J) ~“~‘- (x+ 2) = @y + Zancosanx.
Wy 4w,
o, G= =, =0,
’ (ez) 571
nre  2nxw
Uizt 5 C f(x)”— — _'_E(; ------ )/ 5 COS X, HL a,= ——b—: 7
o s Wy [ Z A e s T ) 47/00 P PAS ot
XoT, ZORER = O—FROAME &, EWCOS X DLESATEITH T

EZ A il ~§9 R wy L LT —b~b @ x KTT ~ Y =~ cosine ifk

WEBT 5. o T kw, = Z @y cos Bux & L.

D b b/2 b
an = kw,+ S cos B xX+-dx = kR w, U cos fux dx —S cos ﬁ,zx-dx]
bJo °p b2

201b b2 b b dkw, . nx _ 4kw 2
= g |sin ] =i ], J = e S e
4k w, 2ol nr nw
kw, :n;; T (—1) ° cosBux. HL b= b‘ = W
n—1
< yjjﬁ kﬂ‘?: THLB, {?:n:l,s,s,.é:{z: N )2 cos But 2755
1) #otwE (D) eB0 386 LLTLITRELY P

S DA FRITEM T b, ISR -

3
o ¥y
(”g")zxt} DY
B P o—

F, = E (Ay cosh B,y + Byysinh 8,y) cos Bux 2e b et

\
\
N
\
\

|
74

+ Z (C); cosh Bux + Dyx sinh Bux) cos By

bl B PITTTHTTNTT k';;fl«gal
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nw __nw

i < it L ,Bn = 7; = ~h-— s /g}&ﬁj‘ﬁ@‘}ﬂzﬂip% 1 =1, 3’ 57 ...... ‘*C-g"b%)o D\”{:rgj
jfiﬁ. L7ehd 5 C, &SI RAROML s :
a F1
Oy = E B {A)z ,sz cosh Bny + B, (2 cosh Bny -+ Bny sinh Bny) }cos Bux
- Z.@i (Cn COSh ﬁnx -+ an sinh ﬁ;;x) cOs ﬂ;ly + bg.
* F,
Iy =g =T > 182 (Ancosh Buy + By sinh Bay) cos fux
-+ Eﬁn {C)L ‘371 COSh ﬁ)zx + Dn (2 COSh ‘an ~+ ﬁnx Sinh ﬁ;zx) }COS ,Blly -+ (720
Txy = a(;. 531 = Zﬁn {An Bn sinh Bny + By, (sinh Bry + Buy cosh ,[J)ny) } sin Bux
+ > 1B{Cy Businh B & + D, (sinh Bux 4 Bux cosh Bux) }sin Buy.
&
(i) y==h/2 T, oy=po+ 3 pucos fux
L7 <,
2 nr
Do + Z Ducos Bk = — Z o <An cosh — - B,L -sinh Z> cos fux + ;.
=75, WEFHEONDEE LD
Akw e
I 7171'0 N S cos s+ dx — tzg (ﬂ) + Ducos ﬁ)z.%') dx =0
L 7:. 753 ) VC,
2 rAkw, =
(n) = — —
bo nmf( — (=1 p")'

({) y=x£h2 T, o= pisinpux
Lf:ZYJ;O T:

nr nr nr

> Pysin fux = > B {An Bn smh = Bn<smh — 2- cosh E)} sin Bux

+ >384 {Ch Businh By x + Dy, (sinh fux + 8ux cosh fux) H—1) 2

(i) x==xb2 T, o0x=¢q+ 3)gncosfuy.
L2%ic, MEROAEFRMDIDEHELD,

k72 /2 h n—l
So oxdy = 0= [qoy + Z —sm ﬁny] qog -+ E n (—1) 2
(1
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THDH0E

B na
L“fcﬁ;o T

n—1

2 n—1
qo+ EQn cos By = Zq,;(cos Buy — o (=1 ? )

b

= — Zﬁ,l (Cn cosh e + Dn sinh— )cos Bny + bs.

(iv) x==b/2 T, =2 q,singy.
l_/fx: f); bl T’

n—1

Eq;z sin 3,y = Eﬁn { Ay Businh Buy + By (sinh Buy + Buy cosh g3} } (—1) z

. HEm . mE 9 )
+ E B {Cu Bn smh?r + Dy (smh —2- lcc h >} sin fny.
J’J\.J:.@u‘[“—gby%?i I—\/ Z’cﬂ?ﬁ?l’f‘@'é E.
() X v .y (A,, cosh T Byl smh”“> (1)

BLO po = a. (1)

" (1) e T, sinh fux, xcosh Bux & —b~b D xKMTT — Y = —D sine T R
15L&,

4n 7l
sinh % = — (=1 cosl s X,
ﬁn m§3,5, . (Wﬂ X ng) ( ) $hy D) n .Bm
> nt n nw  2(n® — m?) nx
coohpurm T ap(en) T (o T 20 e,
P m=1,3,5, (=D 7 (m? + 122)Sm 2 7 m®+ n?)? coshi - Jsin Bmx

Llh, ohe 2® e ki () AT B L,

2 Dusin fux = Z ﬂ,l{An B smh-— -+ By (smh@- 4 72fcosh i )} sin fux

m—1

4n —5— 7
-+ Z ﬁn [C;l B;l Z —————_—( 1) z COShZZZ;T sin anx

m=1,3,5,+ /L(WLZ + %2)

m—1

49 e
+D,l{ b (—1) 2 cosh’-;fsin Bt

m=1,3,5, .7 (10 -+ 1%
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m—1

B 2 2b<~1)"'2_(~——”——~ sinh 2~

m=1,3,5,. 7 (m* + n?) 2

Juy

22 — e T n—2
_ 2w ) cosh ZZ;) Sin‘@mx}jl (—1) 2
= 2
2%, x OEATIC BTN B fod iy, IROHRASLEL TS

77 n
pr = Bu smh — An 4 B (smh e + —; r) B,

m+n—2

Am mr
+ C e (— 1 2 iy
leJS 5. m ABﬂZ (mz + 1’1,2) < ) COSh 2
mAn=2 dm -
i D': b2 —1 2 { h——i
B 7;1221,3, 5, e " .‘971( ) T(WL2 + }Z") Ccos. 5
m ., mxm 2 (m? — n?) i
" ﬂ(mz + 722> s 2 72 (m2 + ng)gcoS 2 ( )
2 ol
(111) £, b?‘(”) - (*‘1) z *Gxn. (3)
nw
X nw b
FO gn = —5, (Cn cosh =4 Dy smh—) @

(iv) 1w\ T, sinhfuy, yeoshfuy % —A~h Dy KT 7 — VU = —® sine #h ¥ &
B4 5% &, () E4<R LT, woERRBsLEL LS.

m-tn—2 4

, 2 5 mwm mmn
= 2 (—1 P cosh T A
qn 711:21,3, 5, 13, L( ) = (1%2 T 712) cosht 5 m

mAn—2 dm win
+ e (—1) 7 {———m i
771:21,3,5,"[? (=D T (m? + n?) oS

+ 2mn (——————*{,m sinh — — osh —-

mr 2 (m2 — n? m
. 2 22 S 1 2\ 0 )} *Bim
7 (m® -+ n?) 2 2 (m + #?)

nr 71’[) (5)

7 . B
+ C, Bi*sinh 5 + Dy B (smh;ﬂ 5 €0 osh 5

]REFER & OEHEME

. 0%V o
(V) Evy:j:/z/z — E'l)xzo, ye=ftf2— Eop =0 & 9, E(ﬁ) _ E.,W‘(fP: 0rLT,
X y= /2 dx®
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-h r 1-— 17
28 {A,l 14y J sinh o —I- B, <1 -+v - cosh %2 i sinh?gf)} cos Bn X
+ Z g [C;,, 1+v Businh 8, % + D, {2sinh fux

+ 1+v (5sinh Bux + Bux cosh Bux) }] (—1) z

n—l

Alew
(e £330 Busin Butt — £ P sin futt + - °Z sin ﬁ,,x) 0

T, sinh fux, xcoshBux % —b~bD x XPT 7~V = — D cosine I E
¥ % &
4n m

. nw
sinh Bux = Z e (1) 2 cosh™ - sin Bmx
m=1,3,5, & (M -+ 1°) 2

71 HT
% cosh Bux = 2b (-—h——* inh—
cosin ﬁn ;;z:ZI,B,S,m Tf(mz -+ 77’2) sin 2
2 (n* — m?) nw A
~ S Ty P ) (71 7 s
nb, 2R E ERICRA LT, x OEAMTIC TR 5 7o dITiE, D RIR
AT & 7 %

__h 7 1 7
— ,Bﬂ{An 1+ysmh ~~~~~ = B,,( —ru-é cosh -; ﬁnu sinh - 27[>}
m+n—2
— 4n nT
+ Zcm B 14y (—1) N S ) -cosh 5
1 dkw ut
I et?n 3””“1:?11‘1‘“““0( 1) 2 >
ntn—2 2 A5 m
‘4‘ ZDm ( 1 7 {2 (3 “” 21)) }3;)1 “'m e ) COS} —é*
,,,,,,,,,,,,, 7 mn 4mn mr
! (i - B )} =0. (6
F 14w 2R B n(m2+n2)sml 5T o ) cosh 5 6)
o*u d%p
) Eupesnn— B3 =050, E<A--> g,
(vi)  Etty=sns2 op =0 XD Yy N PP LC
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¢
_Z"Z Dhsin Bux = 0.

132, x OEMMTIC S TR T 570 0icid, IWOMGRRNRLEEL 5!
2 IR AN NV
B {4n T+ pucosh ™ +B,,(2 cosh T 1+J T sinh )}+ Lpi=0. @

R EHMBLEDOEREH

. 0° s
(vi)) Ettxe1p/2 — Ethyesbro,y=0 — Edg =0 X 1, E(g}%) i — Ed—og =0 & LT,

71

E ,8;‘2 {An 14 vBysinh Buy -+ By (7 + 5vsinh By + 1+ v Buy cosh ﬁ,ly)} (—

b 1~ {73 X
+ Z 8 {C;z 1+ smh T+ Dn(l +v = c%h %7: 73 “sinh l; )} sin Bny
(13

t 1 4 .
-3 (Z} gnsin By — e an By sin ﬁn_y> =0,
Z ¢, sinhByy, ycoshBuy & —h~h Oy KT 7~ = —O sine R

BAL T, L2y oA B3, LT 5700, ROBRRASBE L L5

mtn—2

- dm mw
5 — 2 - e Y£¥
;“ﬁm Ly (=1) (m~+nz) h2 An
m—Hl 2
—— 7 + By-dm mr
+ Zﬂm {T (WL2 + 77,2) C05h—2~
S m mr  2(m* —w?) mn
| ” M. ~ -h,,_u P
2h 1+ g <,;( 2+%2>sml 5 (m2+1) - CO8 2)}3
n {1+ h C T b h?’lnc 11—y hn“>D }
12 vsinh—C,, < u cos 5 5 sin 2
et ¢
T n 1,2 — 3 4n =Y, 8
+ T Bryg IQZ 0 8)

, . v & oo,
(viii) Evy—upp — Edg=0 X1, E<3y2>x o E— iy 0 &1,

> {C” 1+ o8 Losh =4 Dy (Z cosh T ;“”*smh )} sin Buy

¢
-+ ZE gn sin Bny = 0,
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[ Y15
A qn + ﬁn {Cn 14w ‘8;1 COSh “““““ + Du (2 COSh . -}‘ 1-+ V{ZTESIHh "T[)} = (. (9)

FR O E M (T, (I&FR

Eu = E{An 1-F v Bucosh By + By (2 cosh By + 1+ v B, ¥ sinh BrY) } sin fnx

— Z ﬁ,l{Cn 1+ vsinh B + D;;(l + v x cosh Bux — ﬁ ” sinh ﬁn%)} cos By
-+ (bz —V az) X.

piaey
_ E /3,1{/1,; 14 vsinh By + B,,<1 -+ v ycosh By — ! g " sinh ,8,;y>} cos fux

+ Z{Cn 1+ » Bucosh Bux + Dy (2cosh Bux 4+ 1+ v Bux sinh Bux) } sin By

+ (Clz —vy bz)j’

BREOZLEMOFE GCPLUP, (ILFEK

1 g , . 2 -1
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y ¢__g
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e - - o 1
x
o e
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t P, cosfxttpe

7 £ 2Py sinp,x
__24/3wa —1) Tz (€—x) cos ,@nC'dC]de
nwT Jx ﬁgg .
1 % :
B ZAES: [P’{ - tZ %COS ﬁnxlzdx
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d _v _ ! S [e Z}— cos 3, tzpu{< > -—1)72:2;1— V}»Acosﬂ x}
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1—1 n—1
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MROEMOHE (G0 LU W)
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v

-)526 o
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1
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n—1

2 1)+ cos fut e | dy

nr

+etESY gnsin Bué- dc-Fl‘ZS q;zf y)<

N TR ST

’ ‘Zq"{— 7;2' (- ”7};(%2 - %y e LTy sacos b} | dy

’ 5
" %%/:m; =0) ?178 [etZ}ﬁ” cos fuy quﬂ{ - _1)"“:2‘1<_3§_%y+};2)
191n<‘]/£“_ J’>( 1);"2“1H E]“EcOS ﬁ,,y}] (v — y')dy
n—1

1¢ qn 2 Syt byt By
= 2 o8 By — 1 S (= A
IE[”Z g (cosfay = 1) F £214 {nn( DGt )

i

+ L (— 1)712_'”1 (3’:‘ - ]9)—2> — é{ (cos Buy — 1) H

,Bn 6 4 0
£ -7C,
N ¢ Gn 1 2yh hyd h2y?
B (D% e+ Tel LT (4 4 4)
n—l 3 2
Yy hy 1
- (—1 <-~'———*>— ——{cos Buy — 1 }]
ﬂn< ) 5 4 ﬁ;ﬁ( Buy — 1)
iz LC
o aw o t an .
ap = 207 @0 =~ g 2 ’721 sin Byy.
L7chis <,
¢ qn .
Eéhp = — — E"T sin Buy.
AT g,
PaT, Lk 10 Aok &R e B R0 iR d
A e . P2 I@A +ZZ. ]n/LB) (1
=24, (com 5 Ant g sinh 2 ) )
2 sdkw,
bo=a= E;/%( o —t{— 1) ])n) 2)

nr nr

nx
pn = {B,L smh A;z + Bx ( sinh > -+ 5 cosh -----)-Bn
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7(;4/—»71:2 mr
-+ Eﬁm —}'}’l -+ n~) (—l) z COSh-Z—-Cm
ninc2 4dm mn
- 2 A N s
+ 2 18m(=1) i
m . omr 2(m? — n?) mr
o (o T ) e
+ 21 o sinh 2 L) cos 3 D, (3)
-1
b == (D) g (W
_ 5 h"ll'ﬁc+é.h72ﬁD>
qn = — ‘8,1<COS 2 n 5 sin 2 Ly ) (5)
mn—2
g 4m ma
qrn = Eﬁmz (—1) 2 n@z - HZ) cosh -E.Am
m4-n—2
4m mr
)
+ Z[@m (—1) m COS] *2—
m . mr  2(mP— n?) mr
2 e inh o ) 1“) .
+em (mz + nQSlnh 2 rmEr a2 } Bon
nr H
+ B2 smh Cn + Ba (smh 'ir *’2“005 )Dn (6)

— 7 —h nw 1-— 7
8: {1—}-1) sinh g'An -+ (l+u 5 cosh = — 2 sinh n)Bn}

2 ﬁn
Mbn—2
e TS 4n mr
- , ~1) ¢ " _cosh——.C
Eﬁm 1+U ( ) n(m2 T 11,2) COSh 2 m
m+¢z 2

812(3 -+ 2v) nw
~ 2385 (=1) T2 cosh o

7 (m? -+ 11%) cos 2

Znhl+v ( me 4m

mx
” — — ————ucosh — 1D,
+ b = (m? 4 n2) 2 a2 >} ’

n-l
)=o0. (7)

v etpupn—t
I<e /3;1 Dn— P+

— 97 nr % nx ¢
‘Bi{ﬂn 14y cosh gA” —{-(2 cosh'“i + 14w Z‘TC sinh "2—)3,;} + Zp,’l =0, (8)
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m+n—2
5 /— P 4m m
E ﬁm 14y (“-1) m‘) cosh ———2—-

Mm-n—2 T
4 5 447+ 5vm  mz
+2enn T o

— m ., mr 2(m? — n?) mr
+ 2m 14y <m2 +—;;2 smh 7 W cosh —*)} Bm
S ah 7Z7t)D”}

71—1

h
+ BT (1) 7 G+ (T 5 coh ™ =12 =

et t
— Pn — w =0, 9
+113 dn Iq ©)

[ES— L t
ﬁ,zl{l-}—v Bu cosh%r-cn <2cosh—~- + 1+v ----- smhn )D71}+ a gn = 0. (10)

BL, B0 X D Rk

LAk, 100EOFEREEL D, Au, Bn, Cu Du, by Do, Pny Dhy gn RO gn @ 10

EHOARIMPEE AR L Z 2Bk S.

22T, FRHBRAEX DIRERD DD Do, Duy G Gn BIHET S E,
(13), (14) & Ay, Bu, Co B Dy it 5 FERE L 5.

FThabb, (M), ®) #CALT o, pr ZIHETEE,

(11), (12)

ﬂ)zz { m ﬁ?} Sinh?— = (t o 1+l) e A ‘B”) COShn/ }A”

— B {( —vBn+ 1+ e;l 7? Zjllz)n)smh o

+ (ZeIA T4y - ,8,,) coshm}Bn

m+tn—2 4o 1—|—V m

5, 2
208 (=) T (m? w—nz)

m+n 2
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(10) 1= (6) AL T, g0 ZETBE,

mtn—2

¢ 4m mn
;4 21331 (“ 1) z ,@ﬂ n~) cosh A)n
£ mAn—2 dm mr
K . 3 o am il
+ AZ‘B'”( 1) {u (m? + 112) cosh 2

m 7 — 7 mn
+2m( sinh — — ——————" cosl ~>}B
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+ {(2 L 1Fy %7- m)mh % + (51 % ) ﬁ,,) cosh }ﬁ,l = 0. 12)
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;:i
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2¢A
3
+ﬁﬂ{< 13 )cosh o (
Bk, (11), (12), (13), (14) o 43 &
@&ﬁ%ﬁﬁ%? CT,LﬂK L

BMEAT 5 TFHOME F 1H)

2050 R DR (An, Ba, Cu, Du) il

V,Bn_“ +1+V

iﬁn

RYAURE ¢

XD,
J*“@.i“i(ﬂfif/ll é’ﬂ'] ANE
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Anr) sinh ’?f} Dy= 0.

75

Aj=-2,025442x 10®
Az=—4.832 347 x 10°

Ay=+2,733126 x107*
A;=-—2,438301x10"*

Ay=+2.889 819 % 107°

B,= —5.675 637 x 10!
By=+1.844 682 x 107!
B;=—1.145 633 x 10~
By=+1.067 735x 10~

By=—1,297 214 x 1077

C,=-+1.014 157 x 10°
C,=—3.589 780 x 10°
Cy=
Cr=—1.975374x 107
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Cy=+2.254 000 x107°

D,=—3.107 972 3x 10}
Dy=+1.368 826 x 10~
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D.=+8.620 083 x 107
Dy=—1.006 688 x 10~
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o= —0.082 922

gy’ = —0.584 914
@' =—0.019 85
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a =—0.102 22
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Qo — Zdzol} - po = 2. 60167
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To.wo1s138 ~3.61193
—19.768 45 —572.808 53
~1303.5131 —39681.9238 | B
—57 958. 643 ) — 1766 883. 075
—6.569%10* | 0.07869 —3.24224 107.0557 | —3210.518 | —0.020 41 1.37320 | —65.56337  2148.9173 |  —64321.256
1.314% 10~ | —0.04372 2.47937 |  —92.2895 | 2925.1439  0.005 421 —1.05976 52.92083 —2000.510 5 59 330. 524
—0.505x107 | 0.023145  —1.685968 72.3349 | —2483.6121 —0.002 164 0.607 28 | —38.01265  1535.5986 | —53002.3088
0.263x 10~ | —0.013 57 1.139167] —54.62037] 2025.1002] 0.001138 |  —0.368 604 26.62505 —1191.755 1 42 661.708 7 "
—0.16x10~* | 0.008744 | —0.79527 41.1753 | —1625.0801 —0.000 697 0.24164  —18.99737  916.8355 | —34800.6167 N
— 25,267 x 107 ~0.09263 | | \ ! =
—1.15254 - —30.10307 %*
—114.6406 | —2723.778 1
—7039.224 4 B —159894. 331
o | 339641.983 7514 562. 01
6.206 % 10~° | —0.020 07 3.82877 | —346.90323 22110.9640  6.305x 10~  —0.88338 131.32507 —10458.00142 616 228.690 1
Z1.241x10°5 | 0.01115 —2.927 88 209. 054 50, —20 145. 5450, —1.387 x 10~ 0.53329 | —103.79872  9162.57362 —b566457.7183
0. 477 % 10-° | —0.005 90 1.99096 | —234.30407| 17 104.7075,  0.541x10~%  —0.29367 72.968 09 —7333.687 23 487 529.2656
—0.248%107° |  0.003 46 —1.34525 176.991 45 —13946.9157 —0. 282 % 10~ 0.17537 | —50.41438  5642.74835 —403090.765 8
0.1514x 10 —0.002 23 0.93913 | —133.42432 111919708 0.178x107%  —0.114061 35.68276 —4132.3083 |  322493.6381
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6.206 10~ | —0.020 07 3.82878 | —346.90323 22110.9640  6.305x 10~ | —0.88338 131.32507] —10458.0014] 616 228,690 1
—1.241x10-°  0.01115 | —2.92789 |  299.0545 | —20145.5449 —1.387x10~* | 0.53329 | —103.79872| 9162.5736 —566457.718 3

0.477 4x 105, —0.005 90 1.990 965 —234.39407, 17104.7075  0.541x10* | —0.29367 72.96899) —7333.6872 487 529.2656
—0.248x10-5 | 0.00346 | —1.345247  176.99145 —13946.9157 —0.282x10~* | 0.17537 | —50.41438  5642.7483 —403090.76509

0.1514x 106 —0.002 23 0.939134 —133.42432 111919703  0.1726x 10~ —0.114061  35.68276 —4132.3083  322493.638 1
—0.002 527 —0.092 63

—1.15254 ~30.10307
114.6406 —2723.778 1
—7039.2243 159 894. 331
—339641. 983 ] —7514562.01

—6.560x10~% | 0.07869 | —3.24224 107.0557 | —3210.518 | —0.020 413 1.37320 | —66.56337]  2148.9173  —65321.256

131410~ | —0,04372 2.47987 | —92.2805 | 2925.1439]  0.005421 | —1.05976 52.92983 —2000.5105 59 330,524
—0.505x10~* | 0.02314| —1.68597 72.3349 | —2483.6121 —0.002164 0.60728 | —38.01265  1535.5986 —53002.3088

0.263x 10~ | —0.01357 1.139167| —54.6204 | 2025.1002]  0.001138 | —0.36860 26.62505 —1191.7551  42661.7087
—0.16% 10~ 0.00874 | —0.79527 41.1753 | —1625.0801 —0.000 697 0.24164 | —18.99737  916.8355 —34800.6167

2. 288 % 10~ 0.001 735

—0.101 814 —3.61193
—19.76845 —572.808 5
—1393.5131 —39681. 924
—57 958. 643 —1766 883,07

0.235785
~0.078 595
0.047 .57
—0.033 684
0.026 198
0
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pus
3L
y=15
y=10
o ' y=20
g
1
3
0 5 10 15 o
RISk o iR, m(1)
4w0 o = b -
@ & B Eponer B R D5 A
(z0
o 4w a
fke > Ji] i ) (um) | ’ !
W T &fl—® fio O cosine %lle (nﬁ)gCOS 477 1 \ "by?"(x—'z_)
BHbOETH. (514 1B i

W B Fes (T o Fy S [RlER)

{
yl T
Py = E (Ay cosh ayy + By y sinh any ) cos apx
b

* h
+ > HChcoshapy + Dy xsinh aux ) cosey |2 % l
(72 b ' 1/
+ 2 2o |
2 2 1 ;
SUL <l . 2w Znw w,
R a.] 75"1‘.’]5&”){&{3. el apy = o=,
' b h
Liehs o C, BIGEIe <, RIS : —_
02 F, ,
Oy = :5)2 = Z,a’;z {An ay cosh ay + By, (2 cosh any -+ any sinh any ) } COS ayX
P}
— Z o, (Cy, cosh e -+ Dy, x sinh a,x) cos ey + bs. (a)
0*Iy < .
gy == 75\?0 = g (An cosh ay B;,_}’ sinh a,ly) COS X
Dac?

+ Z} ay {C}z ay cosh anx + Dy (2 cosh ayx 4+ @ sinh ax Y} cos any +as. (b)
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F‘)

Tay = 33 3y E an{ Ay ay sinh any + By (sinh ey + @y cosh a,y ) }sin apx
+ Z an{ Cn oy sinh ey 4 Dy, (sinh an® - apx cosh % ) 3 sin any. (c)
Bads#E
(1) Oyy=anpz) = X P cos wpx

Tihbb,
h 2
E Ducosapx = — E (An cosh nw + Bn sinh ﬂu) @y COS Uy X
4 Z an (—1 )2 {Cyy a, cosh aux + D, (2 cosh anx + e sinh ax )} + as,

LD coshayw, xsinhany % —b/2~b/2 D x X[ T cosine I BET 5 &,

1 2n(—1)m
cosh a, = — sinh iz + > PRy sinh n7 cos amx,
nx T (m* + n?)

% sinh a,x = Z}{

._1 m o T —
7 m2 +n2) {=1) coshnz —1}

b{m? — n?) . 1 2 .
S T, (—1)7sinhna feos amx + — cosh nw — —= sinh na.
A (m? + n?)? ay ba,,

b, 238 % PRI L TERIET B &

h
Z puncosay x = — Z ( Ay coshnur + By, 5 sinh nrz) a,zl COS tyX
-+ Z (—1)7 a,z{ = sinhnr + D, (1 - sinh 727 -+ cosh nn')} + a,

2n(—1)m
+Z (—1)7a? C;LZ_L?;’V;T:I‘)—)

sinh 77 cos amx

2n(—1)y=
-+ E 2(=1)"ay, Dy E ~——(2—~)7 sinh %7 cos amx
o T (m? + n?)
nb

+§3(—nnagzu§]{ { (~1y" coshnz — 13

o S (m? 4 n?)

b{m? — n?)

72 (m® + 1) 2

(—1)™ sinh nz } CO8 WX

T ORFREDS, o DIEMTIC BT T 572010, KD 2 DO AN LT - 7
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No. 10
Tishb,
h O (1) mn
Dn = — Ay a’n cosh nwr — B, 2 an sinh 5z -+ Z Cm CUZn *’*-’(*‘->——— sinh mr
m (m2 7 )
b
+ Z Do an® TR { m{ (—1)m+n cosh mz — (—1)y7}
p T ( + nZ)
m? 4 3n®
RS 3 Y S A ——, /}
(-1 ¥ ) sinh mrx : (1)
IO
, (=1 1
Chnay — sinh #z + D, o, (— l)”( ------ sinh 5z 4 cosh mr) + a, = 0. (2)

() y==xh2 T, tay=2) D sinanx
Tinbb,
E prsina, x = Z} o An oy sinh i + By, (sinh iz 4+ #izr cosh siw) § sin ax,

L3 & D AR B3R 35 P DI VE, RO MRS NI e b
Py’ = Aol sinhur -+ B, a, (sinh nz + 5z cosh nz) .

(i) x=D/2 T, 0y =2 qncosayy

Z qn COS Oy = Z“n (—

b
— 2 a,zz (Cn cosh nx 4+ Dn 3 sinh nrr) cos any -+ b,

1)"{ Ay ay, cosh any + By (2 cosh ey + @y sinh ayy) }

CC, RBiEAR cosh ayy, ysinhawy % —h/2~h/2 D y KHC cosine # 5% BRI+
5&,
2n(—1)m

1
cosh ayy = — sm h#ur + _S_ —— — ————} )—smh T COS Y,
7 m T 772“ T

b
ysinha,y = Z ——(—n—z—;—ﬁéy {n{ (— 1) cosh nw —1}

m T

2
Tl sinh 7z,

v (—1)”sinh n }co + ! osh
e (o nh n=z S - T —
7 (m? + n?) 4 Qn o5

P, 230% BT fUA LT, y OfEAC B3 paE
PAGRENS A BE & e B

— 1
Ay a,? (=1 sinh #x + By o, (— 1) (nh'r sinh sz + cosh mr) + by = Q. (4)

7
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2m (—1)mtn
- sinh m=

qn = Z A an®-

- 7 (m? + 1 2
+ ZB a e - { (—1)m+ncosh me — (—1) 7}
— i an e T e

2m (m® + 3n? . b )
+ ir(;‘ﬁﬁ—in ) ) (—1)m+rginh m= } — C,, a? cosh n — éDﬂ a2 sinh nz,  (5)

(i\") X = b/2 T, Tay = Z 5]72 sin any.
Z} Gn sin apy = Za” {C,. ay sinh sz + Dy, (sinh sz + 917 cosh 717) } sin @,
L33,y OEMNC BTN T 5 720i2lE, WORBLEE 85 :

@' = Cya®sinh iz -+ Dy ey (sinh nr -+ 5z cosh nz ) . (6)

REHm B EDES R B (IONNEN

, oty . d*%p
) Evye shpp — EVieo, y=u we— Eip=0 X9 E(aﬁé4>3~i/l/2 dxt =020,
I’Z 1—2
> lan {A}z 1+vsinhnz + B, (1 +v, cosh nr — ” sinh 7m>} COS %
4 (2473
I{e iZan prcosanx —t Zp,, COS X + E 2COS a”x} =0,
A x DIEAAIC B P T B 7C DI DR 2 7 B
h
3 v SlIl nrw 'r“ 7 TV "2‘ COSN AT — e sm N 727
Ayp I+ sinh Bu(1+y § I
1 r 4w
+ 5 (etanpi—tpn+ ) = )
. 0% d%p
’ o — — Fip = I v N o J A -
(vi) Ety=yno— Eip=0, Ly E (ox2>y e E P =0, L7,

k
Za” {A,, 1+ v ay cosh nr + By, <Z cosh wr + 1+ an sinh 1m>} sin apX
-+ Z at (—1y{C,, 1+ vay sinh ayx + Dy ( 14 v a, xcoshaux + 1 -F 3vsinh a,,x)}

¢
+'A2p;l sin apx = 0.
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Z 2T, sinhaux, xcoshaux % — b/2~b/2 D x DX, sine Hi%ic BEEL T,
b 2 LRUCRAL, £ OH x OIEANIC B3 50T 5 7o i ik o B i
RBBIE LI 5

2n P — _
+ ;0131 (—1)mtn {— Wm sinh ma{Cm 1 +vam + Dn 1+ 3v)
1y 2mn 2m ; i,
+ Dy, e (W—Um sinh mr — cosh mn:)} + a pin = 0. (8)

W &R & OEFEY ((d), (f) XBOE 15 HSHK)

o*u ddo

(vii) Em?wﬂ—EmzﬂmF@—EM:O.;D,Egyxzﬂﬂ—Ezgzdh&bf
5( o g b 1—y .
Zan{C,l 1 vsinh nz + Dn< 1+v - coshnz — sinh nn)} cos ayy
2 273

t qn qn
+ja,12(et L;-— tZ&—n—z)cosany:O,

LB,y OEAC BT RELT 5 72 i iE, KOBRKALE L 5 :

S e b 1—
a,ﬁ{Cn 14 v sinh nx -+ Dn( 14+v 3 cosh stw — Y sinhnn)}

an

1
+ 7 letangy —tgn) = 0. (9

o &*dq
— R0 kL7,

(viii)  Evi=spz — Edg=0, XV E (8y2> +b/2 B dy
x=b/2

+ Za,zl {C, 1+ v ay cosh sr + Dy (2 cosh nz 4 1+ v 5z sinh 127) } sin apy

t
+ZZ g sin ayy = 0

Z =T, sinhayy, ycosh any & —h/2~Rh/2 O y ORIT sine #EVCERL T,
Y OEAMIC B TR T 5 7oy, OB S LESL 5!

2n . .

; (X)Zn (— 1) m+n {7‘[ (‘1‘1’;2“—}:7;27) smh mr (Am 1 + Y s + Bm 1 + 31))
1+v 2mn ( om

mi+n? \z(m? 4+ 92)

— Bm sinh mx — cosh mn)}
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— @t {Cy T ¥ v aycosh nz + Dy, (2 cosh nx + 1+ vz sinh nz) Aqn = 0. (10)

WHROEM O E (LU

WIS Mo, KZERLIICEEMNE @, QF 2% 4y
A, 1(/[17’0)/\21:14/1/%" W ZdtfiiL<, #25I7 Qi,?
/ DR . -3 T o
o="0 grva="" T L
0Qi(Q;=0) ’ 0Qi(a; =0) !l e T
Dk o LIEHIFER TS 5. t 2q, Sin“ny/i [
Tindbb, , _i i -
W= ZleSy (Q ot Zgj/zq,; sin a,f-df)z dy ) + 2 -
515
1

ST, {-a-»+ etZS g’ sin wf-dé
+tZSW gn{é—y) cos aué- dé}
= Z;ESZI {Qf - 1«‘2 %{COS oy — (1)} }2dy

ZIES{ &y y)+et2 {cosany—( 1)#}

qn . 2
—t2] LELeosany = (= 1)”}} dy

L7zd 5 ¢,
oW 1
g = 0Qig~0) fl?g { 1317 “{COW"J’ — (=1

— 33 2 feosany — (~1)3 } -3 dy

- Dltmer -0+ Co T} - 1)
EoT
Edg = %{(atz f—- —t3) ‘Z%)(ag oS @y — —alz + (—1) yzi) d
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W ¢ qn
6, e = — e — (—-— — 1 n
® =80k @40 AR o Ny S0y = (=1)y )
LT
¢ qn 1.
Ea,:-* ~—.( — 1Y e g o
Q A 2 : o (—1)ny o sin cr,,y)' {e)

|’ OEMOEHE (wlUv)

E%:SOxdx—USO'ydx“l‘Cu, Evzjaydy—ugoxderCu.

Lbkos, bbb R (@), b) XD gr, 0y ZRALTESZ{TVWESHE L Co,
Co BERSONMEC XY =0T, u=0. y=0 7T, v=0. L7nHB>7C, Cu=Cy
=0 &b, EEropGaRELs:

— Dlan{Cy 1+ vsinh aux + Dy (1 + v x cosh anx — 1=

an

v o
sinhaux) }cosany

+ (by — va,)x. )
B L

. 1_ M
Ev=— Ea,l {An 1+ vsinha,y + B,l(l 4+ v y cosh any — p Y sinh any>} COS X
3

+ Z‘, {Cn 1+ vay, cosh anx + D,(2 cosh anx + 1+ vay, xsinh anx)} sin @,y
+ (a2 — vby)y. (g)

Bk, 10@OEWNNEEEL C—FFETH L, komis:

h Zm — 1)t
Dn = — an®cosh nr+ Ay — P 2sinh e By + 0| — )

.y
e (Ut smh mTE’Cm.
™ m2 + #?)

b
+ Xt m{m{(—l)mw cosh mm — (—1)}

m? 432
+ (—1)”’+” m sinh nm} Djn. (1)
1 Y73
2( ) sinh #z:C,, + (— )”( sinh 7 + a, cosh nn) Dy + a;tm = 0. ()

pn = af sinh nr+ Ay + au(sinh nr -+ sz cosh nz)By,. (3)
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n

- 2
anz( Y sinh nw+ A, + (—1)”(—6 sinh 77 + @, cosh ﬂrr)Bn + b, = 0. (4)

nr

)m»{-n

2
Za’m 47’}’1«

m wm? + n )

+2 7}2

sinh mr+ Am

o 122{ 2 (— 1)+ cosh mz — (—1)7}

m? + 3n? . b .
(1 Y0 ginh Wl/’t}Bm — antcosh unC,, — = et sinh niweD,.  (5)
2+ ) 2

gr = a? sinh 5w+ Cyy + ay(sinh 1w + nx cosh na) D, (6)

; . e h 1—y |
1+ v a,®sinh nws 4y, + a;,-”( 1+ E-C()sh nr — > sinh 727:) B,

Ay
410,

et , _
-+ —I‘an pn - pn ( /L>2 = 0. (7)

14 v a® cosh nme A, + ai(Z cosh #z + 1 -+ v #x sinh nz) By,

T+v2 .
—Z e 27 T}’;’;z:———ill.%( 1)m+#n sinh maeCoy

[2¢7)

21 (—1)m+n 1 om? — 14+ 3pa2
) 7 (1) 2< il v sinhmrr—l-{—umrrcoshmn)Dm

o w(m? +n?) m? + n?
+ ¢ P =0 (8)
A n — .
S 5/ h 1—v |
1+ v ay sinh 5z C,; -+ ozn(l + v — cosh nw — sinh nn) D,
2 Uy
t et
- 7 qn 1+ ?‘ ay q;: = Q. (9)

14+v 2n
WP (1)1 sinh mime A
}] e e

2n(—1)ym+n T —pm?— 1+ 3vn? | —
- 2 sinh mr — 1 MT O hmr:)B
%‘,am o P ( PR sin i “+ v mr cos m

t
s ;z: . 0
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b, 10@EoFEATELY, WA RDERD, Du, P @0 BU gr HHEELT, As
By, Cu, Dy BT 52T 5E, RO 5

—— 3 T .
— 1+ va; cosh nmCp — a,®(2coshnr + 1+ v ua sinh nr) Dy —
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(7) &C (1)7 (3> %1’&:]\1/(’ pil’ p)/l %Zﬁ%‘j—é &:s

et — . £
ai{(—wj — 14w ai)an sinh nr — 7 cosh nn} A

+ a,zl{(l?u a,zl —_ e—; — t;}) sinh nm <% nr + 1+v & ai) cosh mr} B,

)77H 7

+ = E am

sinh mreCyy

ni 2)
+2 Za i nz){ m{(— 1y cosh mz — (—1)7)
m? -+ 3n? ) 4w,
JRRE————————" gun— Y L o ] 7 , e == ()
ooy nz}( 1) sinh m*r}Dn Toin)? 0 (11)

@Yz B) AL T o HiEET DL,

t I
a;21< 2 sinh #r + 1+ v ax cosh mr) A

+ a,,{(l +v 2oim)? +i) sinh nr 4 (Zan +-jzmr> cosh nn} B;,

b A
3 14w 2n .
- [£e7) m (— 1)ym+n sinh mreCyy

2n(—1yn+» /1 —pm?— 1+ 3un?
+ Do (

ﬂ(mz + n2) e+ sinh mzx — 14 v mr cosh mn:) D,, = 0.
m

(12)

Am? (_, 1)7}1-}—71
2 Cop =57

b(m2 + nz) Sinh mTC‘Am
”

+ - Zam E T 712{ {(—1)m+» cosh mnx — (—1)7}

me + 3n? .
e A1\
+ o 712)< 1)m+n sinh MTF} By
14 + ¢ t> inh #z + 4 h C
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aret bt e 2\ . et b
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132

" AR K

(10) £ (6) &V ¢'» mHET S,

3 ft'r—; n
a(m? + n*)

Qn
m

(—1)yn+2 sinh mrs Am

_E“

m
”

t o
— ai(A sinh#7 + 1+ vay, cosh sz

o 2n(—1)yntn (1 —pm—1+3vn?
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t
2an _“‘ — 0T

) Cn

— a,l{(fﬂ nE @y + ;1>sinh nx + <

A

cosh nre} Dy, = 0.
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No. 10

sinhmr — 1 + v mr cosh mn) B

(14)

LA, (11), (12), (13), (14) o FEIIC X T, An, By, Cun Dy D 4FEORESR

L EMkS. Fiobb n=1--SHETED,
20 HORAEE DD, 0E— KGR ZE 5.

5 e,

I & [El— BB % TR %
20765 5 7 RITRT
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A,=—2.344 48% 107
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B,=—1.885 35 x 10~
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H 8% i An, Bu Cu, Da
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C,=—5, 946 08 X 10~5
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Dy=+42.60492x1077
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gy =1-0.068 63
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Summary

Strength of Square Plate with Flanges

Takeo MIYAIRI

(Department of Mechanical Engineering, Faculty of Engineering)

For the purpose of knowing the stiffening effect of a plate inserted in the
square frame work, this paper treats the boundary-value problem in which a
square plate reinforced by a pair of beams is subjected to varying distributed
compressive loads parallel to the edge of the plate. Apart from the problem
of buckling of its plate, theoretical solutions are derived for the plate, to-
gether with for the bending of the beams, and they showed a fair approxima-
tion to the experiments.

From the results obtained, it can be concluded that the insertion of the
plate does not always result in the reinforcement of the beams —— members
of frame works ——, but that their strength is decreased greatly.



